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Linearized knot diagam

Solving Sequence

15—>2—>3—>6—>49—>11—>8—7— 10 —> €3,C6,C9
A knot diagranﬂ €t C2 6 G4 i1 8 7 Ci0

Ideals for irreducible component#ﬂ)f Xpar
I = (9579649u%® + 2805123007 + - - - + 44628149b — 26156718,

— 402165u® — 18012803u?" 4 - - - 4 44628149a — 25970340, v +2u?® 4+ .- —u +1)
I3 =(b—1, ut =P+ 2u? +a—u+1, U5—u4+2u3—u2+u—1>

* 2 irreducible components of dim¢ = 0, with total 34 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L.
I = (9.58 X 105u2® 4 2.81 X 107437 + - -+ + 4.46 X 107b — 2.62 X 107, —4.02 X

105u28 _

(i) Arc colorings

()

ayp =
0
a5 = U
1
ag = u
u2
az =
—ub — 2u —u
ag = u® +ud +u
- (u T
0.00901146u2® + 0.403620u2" + -
ag = \ —0.214655u2® — 0.628555u27 + -
—0.250701u28 — 0.243034u2" + - - -
—0.141381u28 — 0.485781u2%7 + - - -
1.26592u28 + 2.07814u27 + -
—0.853451u2® — 1.71445u27 + -
0.667701u2% + 1.07191u>" + -
—0.263489u2® — 0.531459u2" + -
—0.109320u28 4 0.242748u27 + -
a1o = \ —0.141381u?® — 0.485781u27 + -
—0.109320u28 4 0.242748u2%7 + - .-
a10 = \ —0.141381u2® — 0.485781u?" + - - -
(ii) Obstruction class = —1

2569949 , 28

1.80 X 107u27 4 -+ - +4.46 X 107a — 2.60 X 107, u2® +2u28 ..

-+ 0.0183714wu + 0.581927
-+ 0.800456w + 0.586104

+0.726970u + 1.25839
-+ 0.798176u + 0.655586

— 1.78235u — 0.0609626
-+ 0.995441v — 0.861036

— 2.17896u — 0.0640826

-4 0.603619u — 0.667701)

—0.0712062u + 0.602809
-+ 0.798176u + 0.655586

—0.0712062u + 0.602809
+ 0.798176u + 0.655586

__ 46388860

(iii) Cusp Shapes = —ZFcru™ —

167545923 27 4.
44628149 U

4 58164951

T 44628149 44628149

-—u+1)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,C4 u? F2u w1

C2 u? 120+ —Bu—1

c3,C7 w42+ fu+41

Cs u?® — 20 ... — 65u+ 17

Cg, Cy u?® —5u 4 4 2402 + 32
cg, C11 W +6u® 4+ +5u+1

c10 u?® —36u® 4+ ... —183u —1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cq y 128 4+ -y —1
€2 y? + 129"+ —89y — 1
C3,C7 y29+30y27+--~—5y—1
Cs y? +12y% + ... — 13285y — 289
€6, Co y? +33y% + ... — 1536y — 1024
cs, €11 y? — 36y +..- — 183y — 1
c10 y?? —80y*® + - + 16377y — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.387233 + 0.8599401
= 0.839842 — 0.2004331

—0.34137 + 1.657831

—2.51721 — 4.373561

= 0.387233 — 0.8599401
= 0.839842 + 0.2004331

U
a
b = —0.0183680 — 0.09526001
U
a
b = —0.0183680 + 0.09526001

—0.34137 — 1.657831

—2.51721 + 4.373561

0.525029 + 0.7819031
—1.45815 — 1.693631
0.960834 — 0.1444081

1.78487 + 1.576091

0.9666 — 16.59001

0.525029 — 0.7819031
—1.45815 + 1.693631
0.960834 + 0.1444081

1.78487 — 1.576091

0.9666 + 16.59001

= —0.654583 + 0.6758561
= —0.197062 — 0.7805111
0.929333 + 1.0225901

3.12622 4 1.433451

4.04144 — 2.829121

—0.654583 — 0.6758561
= —0.197062 + 0.7805111
0.929333 — 1.0225901

3.12622 — 1.433451

4.04144 + 2.829121

= —0.925881 + 0.51841471
1.81441 + 0.237951
—1.71997 — 0.323241

11.74770 + 6.592611

3.06245 — 2.553611

—0.925881 — 0.5184141
1.81441 — 0.237951
—1.71997 + 0.323241

11.74770 — 6.592611

3.06245 4 2.553611

0.937398 + 0.5001541
1.79802 — 0.064551
—1.70627 — 0.024141

11.61340 + 1.702441

3.44440 — 1.845691

0.937398 — 0.5001541
= 1.79802 + 0.064551
= —1.70627 + 0.024141

> Q& €| & €|l & €| & €| €| Q | Q2 8| & &
|

11.61340 — 1.702441

3.44440 + 1.845691




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.662767 + 0.8486561
= —1.81457 — 1.322781
1.81677 — 0.136371

5.01547 — 2.568351

6.29777 + 3.450721

—0.662767 — 0.8486561
= —1.81457 4 1.322781
1.81677 + 0.136371

5.01547 + 2.568351

6.29777 — 3.450721

0.567900 + 0.9338311
= —0.28660 + 1.953881
0.704163 + 0.2805957

1.23273 + 2.842151

0.371066 + 0.5815871

0.567900 — 0.9338311
—0.28660 — 1.953881
0.704163 — 0.2805951

1.23273 — 2.842151

0.371066 — 0.5815871

—0.043975 4 0.8735511
1.118610 + 0.5864171
0.157858 + 0.6161401

—1.21438 4+ 1.501011

—6.11641 — 3.939821

—0.043975 — 0.8735511
1.118610 — 0.5864171
0.157858 — 0.6161401

—1.21438 — 1.501011

—6.11641 + 3.939821

—0.637441 4 0.9733021
—1.34495 — 0.557861
0.69848 — 1.230401

2.23506 — 6.490741

1.39267 + 8.344621

—0.637441 — 0.9733021
—1.34495 + 0.557861
0.69848 4 1.230401

2.23506 4+ 6.490741

1.39267 — 8.344621

—0.461488 4 1.1636201
0.358541 + 0.4198401
—0.655831 — 0.1540391

—4.83578 — 4.150321

—10.94337 4 1.863251

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g

—0.461488 — 1.1636201
= 0.358541 — 0.4198401
= —0.655831 + 0.1540391

—4.83578 + 4.150321

—10.94337 — 1.863251




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.017652 + 1.2794301
a = —0.248173 — 0.1766881
b= —-1.56169 — 0.185011

u =

4.96946 + 4.256091

—1.11871 — 2.714371

w= 0.017652 — 1.2794301
a = —0.248173 + 0.1766881
b= —1.56169 + 0.185011

4.96946 — 4.256091

—1.11871 + 2.714371

u = —0.697556 + 1.1218207
a= 1.35862 + 1.616601
b= —-1.69014 + 0.417951

9.9003 — 12.55311

0.87648 + 6.845931

u = —0.697556 — 1.1218201
a= 1.35862 — 1.616607
b=-1.69014 — 0.417951

9.9003 + 12.55311

0.87648 — 6.845931

0.697068 + 1.1370501
a= 0.98961 — 1.533551
b= —-1.66331 — 0.083841

u =

9.66493 + 4.290381

1.47355 — 2.523851

0.697068 — 1.1370501
a= 0.98961 + 1.533551
b= —1.66331 + 0.083841

u =

9.66493 — 4.290381

1.47355 + 2.523851

—0.659229
1.11847
—0.442580

[S S
Il

—1.67720

—6.86830

0.281024 + 0.2657291
a= 1.012610 —0.1512341
0.969423 + 0.2912801

1.86776 + 0.922541

4.20343 — 0.659971

uw=0.281024 — 0.2657291
a= 1.012610 + 0.1512341
b= 0.969423 — 0.2912801

1.86776 — 0.922541

4.20343 + 0.659971




ILrg=®b-1,u*—v3+2u’ +a—u+1, v>—u*+2u®> —u?+u—1)

(i) Arc colorings

1
ayp = O
0
a5: u
1
ag = _u2
u?+1
a3: _u2
—ut —u? -1
as = \ut—uwP4+u2+1
—U
as= \uwd+u
—ut +ud —2u? +u—1
ag = 1
—ut 4+ ud —2ut+u
a11 = 1
-1
ag = 0
—ut—u? -1
ar= \¢y*—uwd+u2+1
—utr 4wt —2ul4u—1
aip = 1
—ut 4wt -2t u—1
aip = 1

(ii) Obstruction class =1

(iii) Cusp Shapes = 3u* + 3u® — 4u® + 8u — 3



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1 w—ut 20—+ u—1
C2 W4 3ut 4 +u—u—1
€3 wWrut—20P —uP4+u—1
C4 Wrut+ 20t +ul+u+1
Cs,C7 wWout =20+l tu+1
Cg, C9 u5
€8, €10 (u+1)°
C11 (u — 1)5




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C4 v+ 3yt + 4y —y—1
€2 v -yt 8y — 3y +3y—1
c3,Cs, C7 y® — byt +8y° — 3y —y —1
C6, Co Y
€8, €10, C11 (y—1)°
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1(vol + y/=1C)

Cusp shape

u = —0.339110 4 0.822375]
a= 0.428550 4 1.0392801
b= 1.00000

1.31583 — 1.530581

—1.50865 + 9.871031

u = —0.339110 — 0.822375]
a= 0.428550 — 1.0392801

1.31583 + 1.530581

—1.50865 — 9.871031

b= 1.00000

u= 0.766826

a = —1.30408 —0.756147 3.17260
b= 1.00000

u = 0.455697 + 1.2001501
a = —0.276511 4 0.7282371
b= 1.00000

—4.22763 + 4.400831

0.92237 — 5.807081

u = 0.455697 — 1.2001501
a = —0.276511 — 0.7282371
b= 1.00000

—4.22763 — 4.400831

0.92237 + 5.807081
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
! (u® —ut +2u —u? 4 u— 1) + 20+ —u1)
C2 (u® 4 3u +du® +u® —u— 1) (u® + 1202 + - —5u—1)
3 (u® +ut =20 —u? 4 u— 1) + 20+ Fut1)
€4 (u® +ut +2u +u? +u+ 1) + 20+ —ut1)
% (u® —u* —2u® +u? +u+1)(u? — 202 - — 65u + 17)
e, Co u® (u? — 5u® + - 4 24u% + 32)
7 (u® —ut =20 +u? +u+1)(w® + 20+ Fut1)
8 (u+1)%)(u® 4+ 6u®® 4 -+ 5u+1)
10 ((u+1)°)(u®® — 36u® + .- — 183u — 1)
c11 (uw—1)°)(u* 4+ 6u®® +--- 4+ 5u+1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C4 (VP +3yt + 4+ —y— Dy + 1292+ — 5y — 1)
€2 W° =y +8y° =3y +3y — (¥ + 129> + - — 89y — 1)
c3, 7 (v° —5y* +8y° —3y° —y — 1)(y*° +30y°" + - — 5y — 1)
Cs (y° — 5yt + 8> — 3y —y — 1)(y*° + 12y + - - — 13285y — 289)
Cé, Co y° (y* + 33y*® + - — 1536y — 1024)
cs, C11 ((y — 1)°)(y* —36y*® +--- — 183y — 1)
c10 ((y = 1)°)(y* — 80y + --- + 16377y — 1)
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